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Find and simplify the derivative of 
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2.
Given the velocity function                                                 find the following:  (assuming motion in a straight line) 
     a). The displacement over this time interval.
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     b). The total distance traveled over this time interval.
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4.
Evaluate the following integrals:
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b). 
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5. Compute one of the following indefinite integrals:
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    Circle the one that you chose to evaluate.
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6. Evaluate the following integral by using partial fractions expansion:
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7. Set up, but do not evaluate, an integral for the area bounded by the curves 
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    Provide a sketch.
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Points of intersection are solutions of 
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On the interval (0,3)   x+1 > (x-1)2. Therefore,
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